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4‘H+5 = 4'3

642=6°

3["2“3] = 3‘5

AM)(-5) = A-20

4(-2)(3) = 4-6

C142+3D-5¢6 = C6D!

E-5-6F3+4-2 - E-11F5

B-6+7C 142434 = gIC2

Y:1045-3 ;- y-8

ABX-3X o ASX

X-5Y2)RY2y3y-ax2=

x-m2+2i34 = x*l’fﬂ

ASB2ASBIB4ASAS =
A"-ﬂi 5-&3‘532*‘3’" =

A9B1 or (1)B' or B
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1) 32
1
2) —
24
3) 72
1
4) —Y—s
5) 452=43
6) 526 - 58
7) A8+43+44g-245 - A-1B3
8) (C3+4-2D-2+44+4 5 C5D6
9) 41046 5 4-4
100 X54=X1
11) 332=36
12) 257 = 235
13) 64
14) +50r -5
15) E-14443-5F2+3+2 o E1F7
16)
1,307.08
17) 3N +4(N +2) = -13(N + 4)
18) 3N+ 4N + 8 = -13N - 52
7N +8 =-13N - 52
20N = -60
N=-3 -3, -1, 1
19) O5N+.10D=.45, N+D=7
5N+ 10D = 45
-5N - 5D = -35
50 =10 N + g_'] a7
D= 2 N=
20) 10Y = -5X + 20
Y=-1/2X+2

1x1000+3x100+7x1+8x1100=

16D
1) 45
1
& —
58
3) X5
1
4) Al
5) XA+B
6) 32+8.36
7) EO0=1
E-143F5-243 ; E2F6
8) BS5-6C-8414244 . B-1C!
9) 7{-3)4-6) = 73
10) X10Y - 5Y o X5Y
11) 1034=10'2
12) (10%)° =10%5= 1015
13) -25
14) +6 or -6
15) (CS5-143p4-3+2-4 4 07D
16) 2x 10000 +5x10+6x1/10+9x 17100 =
20,050.69
17) 3N +6(N +2)=8(N+4)-14
18) 3N +6N +12=8N+32-14
ON +12=8N + 18
N=6 6.8,10
19) 25Q+.10D=2.15, Q+D=11
25Q + 10D= 215
-10Q - 10D = -110
15Q =105 (M+D=11
Q=7 D=4
20) Y=X (X)-3X =4
X=2, 80 Y=2



